

$$a_1 = 50 \rightarrow d = \frac{a_2 - a_1}{2} = \frac{71 - 50}{2} = 10.5$$

$$a_n = a + (n-1)d \rightarrow 50 + (n-1)10.5 = 175 \rightarrow n = 15$$

پس ۱۵ عدد

$$100 \leq 7x + 3 < 1000 \rightarrow 97 \leq 7x < 997 \rightarrow \frac{97}{7} \leq x < \frac{997}{7}$$

$$\rightarrow 14 \leq x \leq 142$$

$$142 - 14 + 1 = 129$$

$$a_n = a + (n-1)d \rightarrow a_{n+1} + a_{n+2} + a_{n+3} = 3a + 3dn + 3d \rightarrow 3a + 3d(n+1)$$

$$a_{n+1} \rightarrow a + nd$$

$$a_{n+2} \rightarrow a + (n+1)d \rightarrow 3a + 3dn + 3d = 4n + 12 \rightarrow 3d = -4 \rightarrow d = -\frac{4}{3}$$

$$a_{n+3} \rightarrow a + (n+2)d \rightarrow 3a + 3d = 12 \rightarrow 3a = 12 \rightarrow a = 4$$

$$a_n = 4 + (n-1) \times (-\frac{4}{3}) = 1 - \frac{4}{3}n$$

$$a_{14} = 1 - \frac{4}{3}(14) = -\frac{55}{3} \quad a_1 = 1 - \frac{4}{3}(1) = -\frac{1}{3} \quad -\frac{55}{3} - (-\frac{1}{3}) = -\frac{54}{3} = -18$$

$$\frac{r^n - r + r - 1}{r} = r^{n+1} \rightarrow r^n \left(\frac{r}{r+1} \right) - r = r^{n+1}$$

$$r^n \times \frac{r}{r+1} - r = r^{n+1} \rightarrow r^n \times \frac{r}{r+1} = r^{n+1} + r \rightarrow r^n \left(\frac{r}{r+1} \right) = r^{n+1} + r$$

$$\rightarrow n = 2 \quad 14 \times \frac{r}{r+1} + \frac{r}{r+1} - 1 = 24$$

$$a_{12} - a_{10} = 0 \quad a_{10} + a_{12} = 20 \quad a_n = \frac{a}{p}n - 10$$

$$\frac{20 + 0}{2} = \frac{20}{2} = 10 = a_{11} \rightarrow d = \frac{a}{p}$$

$$\frac{20 - 0}{2} = \frac{20}{2} = 10 = a_{10}$$

$$a_{11} = \frac{a}{p} \times 11 - 10 = \frac{10}{1} = 10$$

$$\begin{aligned}
 a_1 + a_1 + d &= a_1 + r d + a_1 + r^2 d + a_1 + r^3 d = \omega a_1 + 10d \\
 a_1 + d + a_1 + r d + a_1 + r^2 d + a_1 + r^3 d &= \omega a_1 + r^4 d \\
 a_1 + d &= \frac{d}{r} + d = \frac{r+1}{r}d \\
 \frac{a_1}{a_1} &= \frac{\frac{r+1}{r}d}{\frac{d}{r}} = (r+1) \rightarrow \dots
 \end{aligned}
 \left\{
 \begin{aligned}
 \omega a_1 + 10d &= \frac{1}{r}(\omega a_1 + r^4 d) \\
 \omega a_1 + r^4 d &= \omega a_1 + r^4 d \\
 \omega a_1 &= \omega d \\
 a_1 &= \frac{d}{r}
 \end{aligned}
 \right.$$

$$\begin{aligned}
 t_n &= t_{n-r} + 10 \rightarrow t_n = t_{n-r} + r^4 d \Rightarrow t_9 - t_0 = ? \\
 t_n &= a + (n-1)d \rightarrow t_0 = a + 0d \quad (t_v = a + 4d) \quad t_9 = a + 10d \\
 t_9 - t_0 &= (t_9 - t_0)(t_9 + t_0) = 10ad + 10d^2 \rightarrow \frac{10ad + 10d^2}{a + 4d} = \frac{10d(a + 4d)}{a + 4d} \\
 &= 10d \rightarrow 10 \times d = 10 \quad \therefore t_9 - t_0 = 10t_v
 \end{aligned}$$

$$\frac{r + \sqrt{r} - r(1 - 4\sqrt{r})}{1r + 1} \rightarrow \frac{r + \sqrt{r} - r + 4r\sqrt{r}}{1r} = \frac{4r\sqrt{r}}{1r} \rightarrow \sqrt{r} = d$$

$$\frac{r - r}{r(n-1) + 1} = \frac{r_0}{r(n-1)} = \frac{10}{r(n-1)} = d \rightarrow 10 = \frac{r_0 d}{r(n-1)} \rightarrow 10 = d \left(\frac{r_0 - 1}{19} \right)$$

$$p(n) \rightarrow p(n+1) \quad n+1 = 11 \rightarrow n = 10$$

$$d = \frac{10}{19}$$

$$t_r + t_v = t_n + t_{(n+5)} \rightarrow n + (n+5) = 20 \rightarrow 2n = 15 \rightarrow n = 15$$

$$\begin{aligned}
 t_n &= r t_f \\
 a + v d &= r(a + r d) \rightarrow (a + v d) = (r a + r^2 d) \rightarrow \frac{-r a - r^2 d}{-r} = 0 \rightarrow a + d = 0
 \end{aligned}$$

در جملی دوم (t_r) برابر 10 است

در صورتی که دنباله ثابت باشد و $d = 0$ باشد تمام جملات صفرانه